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QUESTION 1

Which of the following about the Route Target is TRUE?

A. The Route Target is added to an IPv4 route to create the VPN-IPv4 route.

B. The Route Target is an extended community string that identifies VPN membership.
C. A route can have only one Route Target.

D. The Route Target is a 64-bit value added to customer prefixes to make them unique.

Correct Answer: B

QUESTION 2

Click the exhibit.

192.168.1.0027 192.1468.2.0027
AS 64451

AS 64450
Ay E2 110.10.10.5432

10.10.10.6432

10.10.10.1732 | ]\ BRI 2 josa0n7 A “m pan
= i 10A0.10.232
Provider X l i
AS 64496

Provider Y
10.10.10.3/32 10.10.10.4/32 A 64497
PE1 route update ASBR1 route update ASBR2 route update PE2 route update
Network 644%: 1 192, 968.1.0/27 Networ 64496, 1:192. 168, 1.0/27 ‘ Metwo k64456 1:192 168, 1.0/ 27 Network:64496: 11192, %68, 1.0/Z7
Mext-hop: 10.10.10.1 Next-hop: 10.3.4.3 | Next-hop: 10,10.10.4 Next-hop: 10.2.5,2
AS-Path: 64450 #5-Path: 64496 64450 | AS-Path: 64496 64450 AS-Path: 64497 44496 64450
VPN Label: 1371070 WP Label: 131068 | VPN Label: 131069 PN Labal: 131070

For the Inter-AS model B VPRN, which of the route updates for prefix 192.168.1.0/27 is incorrect?
A. The route update sent from PEL.

B. The route update sent from PE2.

C. The route update sent from ASBR1.

D. The route update sent from ASBR2.

Correct Answer: B

QUESTION 3
In inter-AS model C VPRN, which of the following about the command "advertise-label ipv4" is TRUE?

A. This command is required on all PE routers to distribute labeled IPv4 routes directly to PEs in remote AS.
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B. This command is required on the ASBRs to exchange labeled IPv4 routes between the ASs.
C. This command is required on the route reflectors to exchange customer routes between ASs as labeled IPv4 routes.
D. This command is required on all PE routers to distribute labeled IPv4 routes to connected CEs.

Correct Answer: B

QUESTION 4

Click the exhibit.

CSC-PET CSC-PE2
et
AS 2000 M L AS 2000
o o AS 1000 ‘ 1 Il Il .P.EE
' C5C-CE L (MPLS VPHY) CSe-CER il
AS 10 e
192.850.1,1/32 Internet

192 60,100.0/24

A Carrier Supporting Carrier (CSC) VPRN is configured on an Alcatel-Lucent 7750 SR for a customer carrier who is an
Internet Service Provider (ISP). Which of the following configuration steps is NOT required?

A. Configuring iBGP sessions between PEs residing in different customer carrier sites,

B. Configuring a policy on each CSC-CE to advertise local PE addresses to the network provider.
C. Configuring a CSC VPRN on each CSC-PE with a SAP interface towards the attached CSC-CE.
D. Configuring an IES service on PEL.

Correct Answer: C

QUESTION 5

In a Carrier Supporting Carrier (CSC) VPRN, which of the following is a benefit to the customer carrier?
A. The ability to offer Internet connectivity and a variety of services over a single CSC VPRN interface.
B. The ability to maintain its own backbone.

C. The ability to learn system addresses of network provider PEs.

D. There is no need to manage end-customer services.

Correct Answer: A

4A0-106 VCE Dumps | 4A0-106 Exam Questions | 4A0-106 Braindumps 3/4


https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html

VCE & PDF https://lwww.geekcert.com/4a0-106.html
2024 Latest geekcert 4A0-106 PDF and VCE dumps Download

GeekCert.com

4A0-106 VCE Dumps 4A0-106 Exam Questions 4A0-106 Braindumps

4A0-106 VCE Dumps | 4A0-106 Exam Questions | 4A0-106 Braindumps 4/4


https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html
http://www.tcpdf.org
https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html

